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Two which are four; for the inside — 2%P2 Y2IR TR 2ONW

OVERVIEW

The mawn states that the nawa MR are 0°192 "D 2°nw and yn2 "oy onw. It 1s not
clear what i1s meant by 2°192 and y2. Our nM»dOIN supports s™"WA interpretation
here and rejects his interpretation elsewhere.

— %92 TNIYN N3N HYAY 13991 DIDINT IND S/YY YIDNY 19 NI YD
It indeed appears as >"w9 explains here, that the term 2%193a»n refers to the

2'"7wa who is standing inside -
— NINA 1IIYN Y 13991 YINAY

And ywa refers to the "1y who is standing outside; the understanding of the

continuation of the mwn is -
— V97 MHDIINI NMINNIN /T 1OV 29NT NDIDIN MNNN OINY

There are two N1OXY7 of 2191 which are m215m 7827 for both the (2°192) 2"nva and
the (y112) "1v, which in turn expand into a total of four for each of them, which
include the additional two' meism mRET of MWE.

N19oIN cites °"WID in NIVIAW NODN:
— TV DIV PIYYTI YT 29NT DY DD NMDIHN 13N 02192 7Y W9 2MPava)

However in myaw noon, there s"w= explained that the term 2°122 refers to
bringing inside into the >"717, of which there are two modi137 of 2’1, one each for

the "1¥ and the ""2¥ and two more Md1d;7 of MWD -
— NN MIINXIN 13D NN

And 772 refers to nIR2YT to the outside into the °"7n.

mooin disagrees with the *"w19 in nyaw:
— IND W9V 29D ¥R STIND PUT 59511 TINT 3YT Y7910 YWI9TH NN PN

And this interpretation does not appeal to NMo01n; since the maw» explains the
rules regarding the >1v separate and the rules regarding the 2°wY separate, this

indicates that the explanation of the 771wn is as *"w" explained it here -
— 11 VIO MNKN 299 1D 7PN XY ONNT Y1)

For according to s""v" interpretation there in N¥12w, the 71w»n should not have

! See the X3 on X,3 and (>Mwo 7"7) 'o1m *"wA there for an explanation which b are included in the ¥27% anw.

2 oo192 "7 A" R,

3 mpon is (certainly) referring (at least) to the >2vn. The mawn first mentions the 1y7 AR 70157 together and then
the 7015 nX¥I7 of the 2"7va together.
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mixed together the cases of — N1 NIRXIT

noIN attempts to justify *"wD in NYIAW NIOR:
— 5[725 MD391] 2% MNH WI9Y X2 750 BN THINAY 7098 1PIY 299 RIY 17519

However, it is possible the reason the mwn does not mention the NILISTY NINIYT
separately is because then it would have been necessary to elaborate at length.

moon, nonetheless still rejects *"wd in My1AW:
— 1NN 139299 AN PN DPN YN

Nevertheless 717K ' is not satisfied with that >"ws:
{0292 NINPTN PI1Y ND) 9NYND MDIoNn Y9971 MINIYY INPT 93 RPYT NI MMINRPIN

Since the X972 states, ‘this can also be inferred from the miwn, for the mwn
states nIX°%Y and it immediately explains m912:7°; but the X713 did not infer this

since the 7awmn states 29102 first; 7 indicating that 2°192 does not refer to Moid7 but rather to
the 0192 TV 2"nYA.

SUMMARY
07192 refers to the 0°192 W7 2"7y3, and yIn2 refers to the y2 72w *1w. They do
not refer however to 1RX7 7701017.

THINKING IT OVER

nooIN asks that according to >"w7"d in M¥12w the "3 could have inferred that Xin
Y "M AR°X> 101577 since he mentions 2°192 (which means 70107).% Perhaps that
indeed is what the X713 means when it states IN?X? 101377 WO ?!°

4 According to *"wA in NW1aw that 2192 means Mo1377 and 7N means MRV the mwn should have first taught us
regarding all the (21°117) n01277 and afterwards all the 21177 NXXYI7, and not intertwine the NMo1M NMXXIT together.

5 The mmwn would have to begin with *1y7 70157 by stating 2"7va YW 17> % NN 2°19% 17 NX Wi vwd and then
continue with 2"7v27 70137 by stating v Y@ 17 7101 %01 Y 17 DR 2"va vwo. The same would be true by m¥T;
we would need four completely different scenarios. However now when the noidm nmR¥17 are combined the miwn
states all four cases in two concise phrases.

62,2 1mp%. The X723 there wants to infer from our 7Iw» that the term MR*¥> includes Moi271. The proof is from the fact
that the 71wn begins with naws X%’ and the very first case the 71wn teaches us is a case of 710107; which is 17 vwd
2"7y2 5w 17 TINY 101 0°192 17 DX,

7 According to *"w1 (in Myaw) that 00192 refers to Mo17 the X3 should have proven that 7% P XX M1 70107 KIN
from the fact that the 71wn begins with n2wi MX°x° and immediately continues 2%123 ¥27X 07w 0°nw which according
to >"wn (there) means N01571. The fact that the X mx did not choose this proof indicates that 22192 does not refer to
1701577 but rather to the 0192 7wn 2"nya. See ‘Thinking it over’.

8 See footnote # 7.

? See (P71 &9 7"82 7"72) 277 WO,
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